COP 3503 Recitation #6 Problem (Dynamic Programming)
Problem: Subset Sum
In class, we went over a recursive solution to the subset sum problem. Now, convert this solution into a dynamic programming solution. In your solution, you may assume that all the input values in the set and the target are positive integers. Here is the signature your method must have:
public static boolean subsetSum(int[] values, int target);

In order to simplify the grading of the assignment, after you create your method, write a main program to read from a file called subset.in, process several input cases, and write out to the screen.
Input File Format

The first line of the input file will contain a single positive integer n, representing the number of test cases in the file. The n test cases will follow. The first line of each test case will contain a two positive integers, x and t, where x represents the number of values in the set and t represents the target, for that problem instance. You are guaranteed that x<100, t<1000000. The second line of each test case will contain x positive integers, each separated by spaces, which are the values in the set.

Output Format

For each test case, print out a single line with the format:

Test case k: X

where X is the string YES if the target for that case is achievable, and X is NO, otherwise. Note: 1 ≤ k ≤ n.

Sample Input

2

3 10

4 6 8

4 12

1 2 3 4

Sample Output
Test case 1: YES

Test case 2: NO

